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QUESTION 1

What is a role of an Enterprise Service Bus (ESB) in SOA management?

A. To provide the governance of services by limiting who can access services

B. To provide point-to-point connection of service consumers and service providers

C. To provide flexibility that allows business process inefficiencies to be rapidly corrected

D. To ensure a seamless flow of information from anywhere at any time using a variety of protocols

Correct Answer: C

QUESTION 2

Why is defining appropriate Key Performance Indicators (KPIs) important for the success of an

SOA?

A. To provide IT performance metrics

B. To determine the marketability of the SOA processes

C. To justify funding for migration of the processes to SOA

D. To provide feedback indicating Return on Investment (ROI) back to the business

E. To enable business executives to identify impediments and bottlenecks in performance of the business processes

Correct Answer: D

QUESTION 3

When is an SOA implementation most appropriate?

A. Real-time performance is critical.

B. An immediate Return on Investment (ROI) is required.

C. The application interfaces require a high degree of customization.
D. Business functionality is required by many parts of the organization.

Correct Answer: D

QUESTION 4

Which service is running in an SOA environment that is not defined in a service registry and is
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built without proper governance or controls?
A. Rogue Service

B. Duplicate Service

C. Shelfware Service

D. Composite Application Service

Correct Answer: A

QUESTION 5

Which people, organizational or technology factors would positively impact the readiness for SOA and its success?
A. Excess hardware capacity

B. Short-term revenue expectations

C. Business unit executives avoid disruptive innovations

D. Business partners that have the necessary skills and capabilities

Correct Answer: D
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